Homework/Quiz Practice 2
EE 202
Instructions:
The following questions are provided as practice questions for Quiz 2 (30 August 2023). In the quiz, you are not allowed to use your phone/laptop/tablet or notes.
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*P5.3-9 The input to the circuit shown in Figure P 5.3-9 is the
voltage source voltage v,. The output is the voltage v,. The
current source current i, is used to adjust the relationship
between the input and output. Design the circuit so that input
and output are related by the equation vo = 2v, + 9.
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Figure P 5.3.9

Hint: Determine the required valu

s of A and i,.
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P 5.4-6 Find the Thévenin equivalent circuit for the circuit
shown in Figure P 5.4-6.
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Figure P 5.4-6
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P5.4-17 Giventhat0 < R < oo in the circuit shown in Figure
P 5.4-17, consider these two observations:

Observation 1: When R =2 thenvg =4 V and ig =2 A.
Observation 1: WhenR =6 Q thenvg =6 Vandig = 1 A.

Determine the following:

(a) The maximum value of ig and the value of R that causes i
to be maximal.

(b) The maximum value of vk and the value of R that causes vg
to be maximal.

(¢) The maximum value of pg = irvg and the value of R that
causes pg to be maximal.
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Figure P 5.4-17
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P5.5-5 e The circuit shown in Figure P 5.5-5b is the Norton
equivalent circuit of the circuit shown in Figure P 5.5-5a.
Find the value of the short-circuit current iy, and Thévenin

resistance R,.
Answer: i =1.13Aand R, =7.57Q
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P 5.5-9 Find the Norton equivalent circuit for the circuit
shown in Figure P 5.5-9.
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Figure P 5.5-9




